FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
HERITAGE LARGE WOODEN PICNIC TABLE




*9z1s uo Buipuadap Area |jim arempaey 4noA Jo suolsuswiq

:910N

1

"(sba] ay1 01 Sayouaq ay yoene
0l/sBa| sy 01 sagr.q 93Uy By Ydene 01)
syog . v X .. 91/S

j TP
J

‘(doyajqe L ayy 03 sbaj
ay1 yoene oysuoddns Ba) Buoj ayy 01 pue
suoddns B3] 110ys ayy 01 sba| ay1 yaene o1)
syog % € X .. 9T/S

‘ON

Buimeag

uondiiosag

1SITT 3dVMAUVH

"uas sued 3Y} UO payJew s1agquinu syl 0] yarew Jou op asayl "AJuo 8dusJa)sJ 10} e 3|qe] Saxog JO JUSIU0D 8yl Ul S1aquinu Jed 810N

yousg

SaoeIg 93U

suoddns BuoT

suoddns uoys Alep

[0

sba

P
-

dolsjgeL

‘ON

Buimeaqg

uondiiosag g\ le)

S3X04d 40 LNJLNOD

Pl 1

HERITAGE LARGE WOODEN PICNIC TABLE

www. ForeverRedwood.com



‘Uas syiod Y] uo pa)ibw sioquinu ayl 0] Yazpw jou op asay| .\A\EO mutm\mk.mg gOk.ka Nt.\\sch Yyl ul sioquinu 140d 230N

youag

Sodel( 93U M

syuoddns Buo]

suoddns 1oys

sha

doje|qel

ON

NOILdI40S3d

P| 2

HERITAGE LARGE WOODEN PICNIC TABLE

www.ForeverRedwood.com



Step 1: Attach the legs (2) to the short leg supports (3) and to the long leg supports (4) with 5/16™ x 3 %" bolts (A). Each part
has a series of numbers that indicate where to attach the part with the corresponding number.

5/16"" x 3 %" bolts

5/16"" x 3 %" bolts

Step 2: Place the Table upside down. After that, use 5/16"" x 3 %" bolts (A) to attach the legs (2) to the Tabletop (1). Each part
has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" x 3% bolts

P|3
HERITAGE LARGE WOODEN PICNIC TABLE
www. ForeverRedwood.com



Step 3: Attach the knee braces (5) to the tabletop and to the legs with 5/16™" x 3 %" bolts (A) and 5/16™" x 4 %" bolts (B). Each

part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" x 4 ¥"” bolts

rmo

—
»

f

5/16” x 3 %" bolts

Step 4: Finally, attach the benches (6) to the legs with 5/16"" x 4 %" bolts (B). Each part has a series of numbers that indicate

where to attach the part with the corresponding number.

o

5/16"" x 4 ¥%"" bolts

HERITAGE LARGE WOODEN PICNIC TABLE
www. ForeverRedwood.com

Pl 4



This completes the picnic table assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 5
HERITAGE LARGE WOODEN PICNIC TABLE
www. ForeverRedwood.com



